Netted Heart |

Model made from size 50 Oren Bayan, approximately 4 wide & 3 2 “ tall

2 shuttles, CTM

R (A) 6 ds, 3 p sep by 6 ds, 6 ds, clr, rw

Ch9ds,3psepby3ds,9ds,p,3ds, rw

R 6 ds, p, 9 ds, j to middle p of Istr, 9 ds, p, 6 ds, clr

(R 6ds, jlastr, 9 ds, 2 psep by 9 ds, 6 ds, clr) 4 times rw
Ch3,jtolastchp,9ds,3psepby3ds,9ds, rw

Split R 6 ds, p, 6 ds, j to middle p of lastr, 6 ds / 6 ds, clr

Mock picot

*Ch5ds,p,5ds,p,5ds, rw

R 3 ds, j to middle p in next r of 5 r cluster, 3 ds, clr

Repeat from * to opposite side, last j in side p of outside r, turn

Split R 3ds/3ds, clr. Cut ball thread and hide end.

Leave space of 1/2" between rings. Use shuttle thread only. Turn between rings, alternating
joining small ring to chain picots on 5 ring cluster in center and small rings pointing away.
Small rings are 3 ds, p, 3 ds.

Continue to opposite side. Turn and do the same thing again back to the beginning, joining in
space between r of previous row.

Cut and Tie and hide ends.

2 shuttles, CTM, Join thread at base of 1str A
Ch 5 ds, p, 5ds, j to p of 1% small ring, rw

Ch 3, 3 p sep by 3 ds, j to next small r

(Ch 3,4 psep by 3 ds,jtonextsmallr) 4 X
Ch 3, 4 p sep by 3 ds, do not reverse

Using chain shuttle, make r 8 ds, p, 8 ds, clr



(Continue with Ch 3, 4 p sep by 3 ds, j to p of next small r) 5 X

Ch 5 ds, p, 5 ds, j to base of 2" ring at top of heart. Cut & tie and hide ends.

With 2nd shuttle thread, make r of 8 ds, p, 8 ds, clr
Continue with ch 6 ds, p, ch 6 ds, rw

R 3 ds, j to next free thread space, 3 ds, clr

Repeat ** 4 times

Ch 5 ds, p, 5 ds, j to base of 2nd r at top of heart




